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1. If	principal	 is	₹11000.00,	ROI	 is	7.00%	p.a.,	no	of	year(s)	 is	5	and	 interest	 type	 is	compound	 interest	computed
annually,	then	interest	is
(i) ₹4429.07 (ii) ₹4430.07 (iii) ₹4426.07 (iv) ₹4428.07 (v) ₹4427.07

2. If	principal	 is	₹10000.00,	ROI	 is	8.00%	p.a.,	no	of	year(s)	 is	5	and	 interest	 type	 is	compound	 interest	computed
annually,	then	amount	is
(i) ₹14694.28 (ii) ₹14695.28 (iii) ₹14691.28 (iv) ₹14693.28 (v) ₹14692.28

3. If	ROI	is	7.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹1553.98	computed	annually,	then
principal	is
(i) ₹4999.00 (ii) ₹5002.00 (iii) ₹4998.00 (iv) ₹5001.00 (v) ₹5000.00

4. If	ROI	is	3.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹1380.60	computed	annually,	then
amount	is
(i) ₹12380.60 (ii) ₹12379.60 (iii) ₹12382.60 (iv) ₹12378.60 (v) ₹12381.60

5. If	principal	 is	₹11000.00,	no	of	year(s)	 is	2	and	accumulated	compound	 interest	computed	annually	 is	₹444.40,
then	ROI	per	annum	is
(i) 2.00% (ii) 4.00% (iii) 1.00% (iv) 0.00% (v) 3.00%

6. If	principal	 is	₹5000.00,	no	of	year(s)	 is	5	and	accumulated	compound	 interest	computed	annually	 is	₹1691.13,
then	amount	is
(i) ₹6689.13 (ii) ₹6690.13 (iii) ₹6693.13 (iv) ₹6691.13 (v) ₹6692.13

7. If	principal	 is	₹5000.00,	ROI	 is	9.00%	p.a.	and	accumulated	compound	 interest	computed	annually	 is	₹2693.12,
then	no	of	years	is
(i) 6 (ii) 4 (iii) 3 (iv) 7 (v) 5

8. If	principal	is	₹10000.00,	ROI	is	5.00%	p.a.	and	accumulated	compound	interest	computed	annually	is	₹1025.00,
then	amount	is
(i) ₹11023.00 (ii) ₹11027.00 (iii) ₹11024.00 (iv) ₹11026.00 (v) ₹11025.00

9. If	 principal	 is	 ₹14000.00	 and	 compound	 interest	 amount	 is	 ₹17867.94	 for	 5	 year(s)	 computed	 annually,	 then
interest	is
(i) ₹3865.94 (ii) ₹3866.94 (iii) ₹3867.94 (iv) ₹3869.94 (v) ₹3868.94

10. If	principal	is	₹19000.00	and	compound	interest	amount	is	₹25849.29	for	4	year(s)	computed	annually,	then	ROI
per	annum	is
(i) 9.00% (ii) 6.00% (iii) 8.00% (iv) 7.00% (v) 10.00%

11. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹21348.40	 for	 2	 year(s)	 at	 an	 ROI	 of	 6.00%	 p.a.
computed	annually,	then	principal	is
(i) ₹19001.00 (ii) ₹18999.00 (iii) ₹19000.00 (iv) ₹18998.00 (v) ₹19002.00



12. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹13382.26	 for	 5	 year(s)	 at	 an	 ROI	 of	 6.00%	 p.a.
computed	annually,	then	interest	is
(i) ₹3384.26 (ii) ₹3381.26 (iii) ₹3382.26 (iv) ₹3383.26 (v) ₹3380.26

13. If	the	compound	interest	on	a	certain	principal	is	₹2599.83	for	5	year(s)	at	ROI	4.00%	p.a.	computed	annually,
then	what	is	the	compound	interest	for	the	same	principal	and	ROI	for	4	year(s)?
(i) ₹2039.30 (ii) ₹2037.30 (iii) ₹2036.30 (iv) ₹2038.30 (v) ₹2040.30

14. If	the	compound	interest	on	a	certain	principal	is	₹974.40	for	2	year(s)	at	ROI	3.00%	p.a.	computed	annually,
then	what	is	the	compound	interest	for	the	same	principal	and	duration	at	5.00%	p.a.	ROI?
(i) ₹1640.00 (ii) ₹1641.00 (iii) ₹1638.00 (iv) ₹1642.00 (v) ₹1639.00

15. If	the	compound	interest	on	a	certain	principal	is	₹4884.08	for	5	year(s)	at	ROI	10.00%	p.a.	computed	annually,
then	what	is	the	compound	interest	for	the	same	principal	at	6.00%	p.a.	ROI	and	duration	6	year(s)?
(i) ₹3349.15 (ii) ₹3350.15 (iii) ₹3348.15 (iv) ₹3347.15 (v) ₹3346.15

16. Calculate	the	amount	on₹8000.00for4years1months
at7.00%	p.a.compoundedannually
(i) ₹10549.54 (ii) ₹10546.54 (iii) ₹10548.54 (iv) ₹10545.54 (v) ₹10547.54

17. Calculate	the	amount	on₹15000.00for years

at6.00%	p.a.compoundedannually
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(i) ₹18311.87 (ii) ₹18310.87 (iii) ₹18312.87 (iv) ₹18313.87 (v) ₹18309.87

18. A	man	borrows	a	₹20000.00	at	7.00%	p.a.	compounded	annually.	If	he	repays	₹10700.00	at	the	end	of	year	1	,
₹5724.50	at	the	end	of	year	2	,	how	much	loan	is	outstanding	against	him	at	the	beginning	of	the	year	3.
(i) ₹5725.50 (ii) ₹5723.50 (iii) ₹5722.50 (iv) ₹5726.50 (v) ₹5724.50

19. A	man	invests	a	₹9000.00	for	4	years	at	4.00%	p.a.	compounded	annually.	If	4%	of	the	accrued	interest	at	the
end	of	each	year	is	deducted	as	income	tax,	find	the	amount	he	receives	at	the	end	of	4	years.
(i) ₹10466.08 (ii) ₹10463.08 (iii) ₹10465.08 (iv) ₹10464.08 (v) ₹10462.08

20. If	P	=	Principal,	n	=	no	of	terms,	R	=	rate	of	interest,	formula	for	amount	at	compound	interest	is
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21. If	principal	is	₹20000.00,	ROI	is	5.00%	p.a.,	no	of	year(s)	is	5	computed	annually,	then	the	difference	of
compound	and	simple	interest	=
(i) ₹527.63 (ii) ₹526.63 (iii) ₹525.63 (iv) ₹524.63 (v) ₹523.63

22. If	the	difference	of	compound	and	simple	interest	on	a	certain	principal	is	₹9.60	for	ROI	4.00%	p.a.	and	no	of
year(s)	2	computed	annually,	then	the	principal	=
(i) ₹6000.00 (ii) ₹5998.00 (iii) ₹6002.00 (iv) ₹5999.00 (v) ₹6001.00
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